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Test 1
Reasoning

If it is possible to make a meaningful word from the first, the fourth, the seventh and the ninth letters of the word
PESTICIDE, then last letter of the word is your answer. If more than one such word can be formed give ‘M’ as your
answer and if no such word can be formed give ‘X’ as your answer.

HE )T 3)P 4HM 5HX

Introducing a woman, a man said, “Her only brother is the only son of my father.” How is the woman related to that man’s
father?
1) Wife 2) Sister 3) Daughter 4) Mother 5) Niece

‘Mother’ is related to ‘Offspring’ in the same way as “Tree’ is related to —
1) Sapling 2) Fruit 3) Root 4) Stem 5) None of these

Tom walked 10 miles from point P towards the East. He then took right turn and walked 5 miles and taking another right
turn walked again for another 5 miles. In which direction is point P from where Tom is standing now ?

1) West 2) North-West 3) North-East

4) Cannot be determined 5) None of these

How many such pairs of letters are there in the word CONTROL each of which has as many letters between them in the
word as in the English alphabet ?
1) None 2) One 3) Two 4) Three 5) More than three

If “A’ is substituted by 1, ‘B’ by 2 and so on upto ‘Z’ which is substituted by 26, what will be the sum of the numbers
substituted for the word DECAY ?
1)38 2)41 3)40 4)37 5) None of these

Among five friends Mahesh is taller than Karan but not Yash. Hrithik is taller than Yash but not Abhishek. Ifthey stand
in increasing order of their heights, who will be first in line ?
1) Abhishek 2) Yash 3)Karan 4) Data inadequate 5) None of these

What will come in place of the question mark (?) in the following letter-number series?
ZG13 ? VMI17 TPI9
1)RS15 2)YI17 3)QR21 4) XJ15 5) None of these

Smita correctly remembers that last year Diwali was celebrated before November but after May. Sanjay correctly remembers
that last year he had Diwali holidays after July. Mohan correctly remembers that the month in which Diwali was
celebrated had only 30 days. In which month of the year was Diwali definitely celebrated?

1) July 2) August 3) September 4) October 5) November

Directions (Q. 10-14): Study the following information carefully and answer the given questions.

L,P,Q,R, Sand T are sitting in a straight line facing North.

(@) Q sits fourth to the left of T and Q does not sit at an extreme end of the line.
(b) Only one person sits between R and T.

(c) Neither S nor L sits at the extreme end of the line.

(d) L isnotan immediate neighbour of Q.

How many persons sit between Q and L?
1) None 2) One 3) Two 4) Three 5) Four

Ifall the persons are made to sit in alphabetical order from left to right, the positions of how many will remain unchanged
as compared to the original seating positions?

1) None 2) One 3) Two 4) Three 5) Four
What is the position of Q with respect to L?

1) Second to the left 2) Immediately to the right 3) Second to the right

4) Third to the left 5) Third to the right
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Who sits at the extreme left hand corner of the line ?
HP 2)R HT
4) Either T or R 5) None of these

Four of the following five are alike in a certain way based on their seating positions in the above arrangement and so form
a group. Which is the one that does not belong to that group?
1)TR 2)SP 3)RQ 4 LS 5)QL

Directions (Q. 15-219): In each question below are two statements followed by two conclusions numbered I and I1. You

have to take the two given statements to be true even if they seem to be at variance from commonly known facts and then decide
which of the given conclusions logically follows from the two statements disregarding commonly known facts. Give answer—

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

1) if only conclusion I follows.

2) if only conclusion II follows.

3) if either conclusion I or II follows

4) if neither conclusion I nor II follows.
5) if both conclusions I and II follow.

Statements:  All fish are birds. Some hens are fish.
Conclusion: L  Some hens are birds.
IL No birds are hens.

Statements: Some kites are threads. No thread is needle.
Conclusions: L  Some kites are needles.
I No needleis thread.

Statements: Some books are pens. All pens are papers.
Conclusions: L  Some papers are books.
I.  All books are papers.

Statements:  All puppies are tigers. All kittens are tigers.
Conclusion: L  All puppies are kittens.
IL  All tigers being puppies is a possibility.

Statements: Some doctors are nurses. All nurses are patients.
Conclusion: L All doctors are patients.
I. Some patients are doctors.

Directions (Q. 20-24): Study the following arrangement carefully and answer the questions given below.
RP5#7TMNE2DA*4FHIT91$U6% W3

How many such vowels are there in the above arrangement, each of which is either immediately preceded by a number
or immediately followed by a symbol?
1) None 2) One 3) Two 4) Three 5) More than three

Which of the following is the sixth to the right of the fifteenth element from right end in the above arrangement?
DT 2)7 3)2 4HU 5) None of these

Which of the following is in exactly middle between seventh from the left and ninth from the right end ?
DA 2)* 3)4 4)F 5) None of these

How many such digits are there in the above arrangement, each of which is either immediately preceded or followed by
a consonant ?
1) None 2) One 3) Two 4) Three 5) More than three

How many such consonants are there in the above arrangement, each of which is immediately preceded by a symbol but
not immediately followed by a digit ?
1) None 2) One 3) Two 4) Three 5) More than three
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Directions (Q. 25-30): Study the following information carefully to answer these questions :
0 P,Q,R,S,T,UandV aresitting along a circle and are facing the centre,

(@) Pisbetween T and S.

(ii)) Uis between Q and V.

(iv) Qis2nd tothe right of T.

Which of the following is definitely true regarding V?
1) 2nd to the left of P 2) Between P and U 3) To the immediate left of U
4) 4th to the left of T 5) None of these

Which of the following is the correct statement ?
1) S is between R and P 2) Qis between T and R 3) Pis 3rd to the left of Q
4) S is to the immediate left of V 5) None of these

What is the position of R ?

1) Cannot be determined 2) Between Qand T 3) To the immediate left of T

4) 2nd to the right of Q 5) None of these

Which of the following pairs has the second person sitting to the immediate left of the first person?

DPT 2)RQ 3) UV 4)Sp 5) None of these
Which of the following pairs of person has its first person sitting second to the right of the second person?
TS 2)US 3)RU 4)PR 5) None of these
Which of the following is the wrong statement ?

1) S is immediate neighbour of V 2) R is immediate neighbour of T 3) Q is immediate neighbour of R
4) T is immediate neighbour of S 5) All are correct statements.

Which of the following expressions is true if the expression ‘M >N >P = Q > R’ is defintely true?
1)R<N 2)P<M 3IIM=>Q 4)N=Q 5) None of these

Which of the following expressions is false if the expression ‘Z< Q <R > S =P’ is defintely true?
1)Z<R 2)P<R 3)Q<Z 4)S<R 5) None of these

Which of the following expressions will be true if ‘Q > T’ is defintely true?
1D)Q=P>S>T 2)Q<P<S<T 3)Q<P=S>T 4)Q=2P=S>T 5) None of these

Directions (Q. 34-35): Read the following information carefully and answer the questions which follow:
‘A x B’ means ‘A is wifc of B’.

‘A + B’ means ‘A is brother of B’.

‘A+ B’ means ‘A is daughter of B’.

‘A - B’ means ‘A isson of B’.

Which of the following means ‘D is father of A’?
DHDA-BxC+D 2)D+C-BxA 3)A+B+CxD 4)D+BxC-A 5) None of these

HowisFrelatedtoJif F—G+HxJ*?
1) Son 2) Grandson 3) Son—-in—law 4) Father 5) Grandfather
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Directions (Q. 36-40): In each of the questions given below which one of the five answer figures on the right should
come after the problem figures on the left, if the sequence is to be continued?

Problem Figures Answer Figures
L 1
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Test 11
English Language

Directions (Q. 41-50) : Read the following passage carefully and answer the questions given below it. Certain words
have been printed in bold to help you locate them while answering some of the questions.

Though the U.S. prides itself on being a leader in the world community, a recent report shows that it lags far behind other
industrialised countries in meeting the needs of its youngest and most vulnerable citizens. The U.S. has a higher Infant
mortality rate, a higher proportion of low birthweight babies, a smaller proportion of babies immunised against childhood
diseases and a much higher rate of adolescent pregnancies. These findings, described as a “quiet crisis” requiring immediate
and far-reaching action, appeared in a report prepared by a task force of educators, doctors, politicians and business people.
According to the report, a fourth of the nation’s 12 million infants and toddlers live in poverty. As many as half confront risk
factors that could harm their ability to develop intellectually, physically and socially. Child immunisations are too low, more
children are born into poverty, more are in substandard care while their parents work and more are being raised by single
parents. When taken together these and other risk factors can lead to educational and health problems that are much harder
and more costly to reverse.

The crisis begins in the womb with unplanned parenthood. Women with unplanned pregnancies are less likely to seek
pre-natal care. In the U.S. 80% of teenage pregnancies and 56% of all pregnancies are unplanned. The problems continue after
birth where unplanned pregnancies and unstable partnerships often go hand in hand. Since 1950, the number of single parent
families has nearly tripled. More than 25 per cent of all births today are to unmarried mothers. As the number of single parent
families grows and more women enter the work force, infants and toddlers are increasingly in the care of people other than their
parents.

Most disturbingly, recent statistics show that American parents are increasingly neglecting or abusing their children. In
only four years from 1987-1991 the number of children in foster care increased by over 50 per cent. Babies under the age of one
are the fastest growing category of children entering foster care. This crisis affects children under the age of three most
severely, the report says. Yet, it is this period-from infancy through preschool years-that sets the stage for a child’s future.

41. The main focus of the passage is on the plight of
1) orphaned children 2) teenage mothers 3) low birth weight babies
4)unwed mother 5) None of these

42.  Children failing in which age group are most severely affected by the ‘quiet crisis’?
1) Below 1 year 2) Below 2 year 3) Below 3 years
4) Between 2 and 3 years 5) None of these

43.  Which of the following does not constitute the ‘quiet crisis’ in the U.S. as per the task force report?
1) Lower proportion of new born babies with normal weight
2) Higher incidence of adolescent girls becoming mothers
3) Lower rate of babies surviving childhood diseases
4) Larger proportion of babies who are deprived of immunisation
5) Increasing cases of teenage couples getting divorced

44.  Which of the following statements is not true in the context of the passage?
1) The number of single-parent families today is approximately three times that four decades ago.
2) The number of children in the U.S. entering foster care has decreased before 1991.
3) In the U.S., the number of infants living in poverty is about 3 million.
4) Only 20 per cent of all the pregnancies in the U.S. are planned.
5) About 6 million infants the U.S. are likely to develop educational and health problems.

45.  Thenumber of children born to married mothers in the U.S. is approximately how many times the number of children born
to unwed mothers?
1) 1.5 times 2)2 times 3) 3 times
4) 3.5 times 5) Not mentioned in the passage
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Directions (Q. 46-47) : Choose the word which is most nearly the same in meaning to the given word as used in the

passage.
46. VULNERABLE

1) Insecure 2) Indispensable 3) Risky 4) Promising 5) Challenging
47.  ABUSING

1) Cursing 2) Beating 3) lll treating 4) Accusing 5) Oppressing

48.

49.

50.

Directions (Q. 48-50): Choose the word which is most opposite in meaning to the given word as used in the passage.

SEVERELY

1) Drastically 2) Intensely 3) Minutely 4) Nonmally 5) Slightly
UNSTABLE

1) Changing 2) Steady 3) Stagnant 4) Confined 5) Accelerating
SUBSTANDARD

1) Impoverished 2) Compassionate 3) Excellent 4) Valuable 5) Beneficial

Directions (Q. 51-55): Read each sentence to find out whether there is any error in it. The error, if any, will be in one

part of the sentence. The number of that part is the answer. If there is no error, the answer is 5). (Ignore errors of

punctuation, if any).

51. A customer usually (1)/ goes to a bank (2)/ to deposit or withdraw money 3)/ or applies for loans (4)./ No error (5)

52.  Themanagement will be taken (1)/ a decision about (2)/ the training of the clerical (3)/ staff early next month (4)./ No error
®)

53.  Shehas started (1)/ much new initiatives (2)/ to help underprivileged students (3)/ get an education (4)./ No error (5)

54.  The success of the project (1)/ depends on how (2)/ much efforts each (3)/ team member puts in (4)./ No error (5)

55.  This is one (1)/ of the few companies (2)/ who has done (3)/ well for the past two years (4)./ No error (5)

Directions (Q. 56-60) : In each sentence below a word is printed in bold. Below each sentence, five words/ group of

words are suggested, one of which can replace the bold word, without changing the meaning of the sentence. Find out the
appropriate word/ group of words in each case.

56.

57.

38.

59.

His inflexible attitude is the root cause of most of his problems.
1) negative 2) nasty 3) hesitant 4)rigid 5) annoying

If you familiarize yourself with the culture of that area, you will be able to enjoy life there.
1) submit 2) acquaint 3) associate 4) look after 5) instill into

For such a gigantic task, there should be some special task force.

1) trivial 2) important 3) huge 4) gallantry 5) victorious
If you are required to handle things under stress, mistakes are inevitable.

1) correctable 2) detectable 3) unpardonable 4) acceptable 5) unavoidable
People who trespass this gate will be fined.

1) cross without permission 2) climb up and cross over 3) break unlawfully

4) pass on 5) pass by
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Directions (Q. 61-65): In each question below, four words which are numbered 1),2), 3) and 4) have been printed of
which one may be wrongly spelt. The number of that word is answer. If all the four words are correctly spelt, mark S)ie
‘All correct’ as the answer.

61. 1)Profesion 2) Justice 3)Riot 4) Assembly 5) All correct
62. 1) Shoddy 2) Affair 3) Parade 4) Beard 5) All correct
63. 1) Machstick 2) Death 3)Birth 4) Spark 5) All correct
64. 1) Suspect 2)Rope 3) Religious 4) Ecsplode 5) All correct
65. 1) Confident 2) Strach 3)Road 4)Hire 5) All correct

Directions (Q. 66-70) : Rearrange the following sentences (A), (B), (C), (D), (E) and (F) in proper sequence to from a
meaningful paragraph; then answer the questions given below them.

(A) He felt that his honest ways were responsible for the poverty and starvation of his family.

(B) Sixteen miles away from Mysore, there is a dense forest.

(©) He told them how his honesty was useless and asked if he should try an alternative.

(D) They told him that they would prefer starving to dishonesty.

(E) Once there lived a poor but honest woodcutter in the forest.

(F) So he wanted to discuss his feeling with his wife and children.

66.  Which of the following should be the SIXTH (LAST) sentence?

D (A) 2)(B) 3)(© 4) (D) 5)(E)
67.  Which of the following should be the FIRST sentence?

D (A) 2)(B) 3)©O 4) (D) 5)(E)
68.  Which of the following should be the FIFTH sentence ?

D (A) 2)(B) 3)(©) 4) (D) 5)(E)
69.  Which of the following should be the SECOND sentence?

D (A) 2)(B) BI(®) 4) (D) 5)(E)
70. ~ Which of the following should be the THIRD sentence?

D(A) 2)(B) 3)(© 4) (D) 5)(E)

Directions (Q. 71-80): In the following passage there are blanks, each of which has been numbered. These numbers
are printed below the passage and against each, five words are suggested, one of which fits the blank appropriately. Find out
the appropriate word in each case.

Clement Atlee became the Prime Minister of England after the Second World War. Winston Churchill who had successfully
(71) England and the allies to victory over Hitler was now rejected by the English people at the hustings. Labour Party was (72)
to power and Atlee became the Prime Minister. One of his memorable tasks was that he was (73) in granting India its freedom.
Atlee was born in a well to do (74) but he always had (75) for the poor and the downtrodden. He is known for keeping (76) and
cooperation among his cabinet colleagues. Not that there were no differences of opinion (77) his cabinet members, but Atlee,
by his (78) nature and positive approach, always managed to keep them together and had control over them. (79) being
sympathetic to the cause of India, and granting India freedom, he (80) many a constructive activity for his country too, like
nationalisation of some industries and starting National Health Scheme.

71.  1)isolated 2) established 3) conquered 4) marginalized 5)led

72.  1)averse 2) close 3) swept 4) used 5)immune

73. 1) interested 2) instrumental 3) eager 4) reluctant 5) particular
74. 1) class 2) origin 3) country 4) family 5) community
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75.
76.
7.
78.
79.
&0.

1) concern

1) assistance
1) among

1) withdrawing
1) although

1) demonstrated

SET-10-2012-N5

2) reverence
2) conviction
2) within

2) gentle

2) without

2) imitated

BSC Academy

3) apathy
3) harmony
3) between
3) stubborn
3)he

3) bypassed

4) jobs

4) faith

4) from

4) aggressive
4) besides

4) observed

5) indifference
5) conflict
5)with

5) docile

5) after

5)did

13
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geATaen 111
AT AT

fAder (u. 81-95): A=fafa uedl 4 ywfes (2) @& WM w® @& 3 =f{e?

18x15-20
8l. X5 o a7

(32+9.4)-17.6

1) 75 2) 100 3) 150 4) 50 5) s | BIg T
82. 12544 = 64x2=43.75

1) 30 2) 15 3) 25 4) 40 5) STH ¥ @13 Al
8. (16) = (16)' x (16) = (16)'

1) 6.75 2)8 3) 10 4) 12 5) s | PIg T
84. 444 + (16 x 1.5) =72

1) 41.625 2) 222 3)18.5 4) 185 5) STH ¥ @13 Al
85. {(337 + 146) x 8} =7

1) 3884 2) 1515 3) 3864 4) 1505 5) 3846
86. 832.456 — 539.982 — 123.321 =?

1) 196.153 2) 149.153 3) 169.153 4) 176.135 5) s | BIg T
87. 236.69 + 356.74 = 393.39 +?

1) 200.04 2) 201.04 3) 200.14 4) 202.14 5)203.04
88. 498523 +4632.14 - ? =4022.12

1) 5955.25 2) 5595.25 3) 5295.55 4) 5255.95 5) 379 | BIg &

1 1

89. 60 &1 640% BT Z Dl E =

1) 24 2) 32 3) 18 4) 12 5) T 9 PIS T8
90. 1250 &1 0.07% — 650 &1 0.02% = ?

1) 0.625 2) 0.545 3)0.615 4) 0.745 5) s | BIg T
91. 56050 lalaslio,

. Eal 3 Eal 5 Eal 5

1) 356 2) 336 3) 376 4) 346 5) s | PIg T
92. 8745 @1 7% = 5159.55

1) 49 2) 54 3) 57 4) 47 5) T ¥ PIS T8

7 (47+17) 1

= —=?
93. 8X(22+27)+2 '

22 14 23 16 : ,
D 2) 5 3 15 4 5 5) T ¥ PIS T8

94. 025 + 0.10 x 0.04 +0.006 =?
1) 0.16 2) 0.006 3) 0.106 4) 0.016 5) 3T | PIE T
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81.

&2.

3.

&5.

86.

&7

8.

9.

90.

91.

92.

93.

94.

BSC Academy

Test 111
Quantitative Aptitude

Directions (Q. 81-95): What should come in the place of question mark (?) in the following questions?

18x15-20
(32+94)-76
1)75 2)100
V12544 +~64x?=43.75
1)30 2)15
(16) +(16) x (16) =(16)
1)6.75 2)8
444 +(16x1.5)="2
1)41.625 2)222

((337+146) x 8} =2
1)3884 2)1515

832.456-539.982—-123.321 ="
1)196.153 2)149.153

236.69 + 356.74=393.39+7?
1)200.04 2)201.04

4985.23 +4632.14-? =4022.12
1) 5955.25 2) 5595.25

st 0 — 9
5 of 7 of 640% of 60 =

1) 24 2) 32

0.07% of 1250 - 0.02% of 650="?

1) 0.625 2) 0.545

-9
= of = of —3 of 56052 =7

1) 356 2) 336
7% of 8745=5159.55
1) 49 2) 54
7 (47417) 1 _,
8 \22+27) 2

22 14
1) el 2) 3

0.25 = 0.10 x 0.04+0.006 =?
1) 0.16 2)0.006

SET-10-2012-N5

3)150 4)50
3)25 4)40
310 4)12
3)18.5 4) 185
3)3864 4) 1505
3)169.153
3)200.14
3) 5295.55
318 4) 12
3)0.615 4) 0.745
3) 376 4) 346
3) 57 4) 47
23 16
3) 5 4) B3l
3)0.106 4) 0.016

4)176.135

4)202.14

4) 5255.95

5) None of these

5) None of these

5) None of these

5) None of these

5)3846

5) None of these

5)203.04

5) None of these

5) None of these

5) None of these

5) None of these

5) None of these

5) None of these

5) None of these
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95.

96.

97.

9.

9.

100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

16
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V8464 +4/7 =102
1) 225 2) 100 3) 400 4) 625 5) STH ¥ ®I3 TEl

T AT B! HTg, Sl 25 T B, UP 94 Bl Yol & FAM B 3R AT &l aF%hd a7 & &3%ha 9 125 4 49 5 |
AT B Aers fha 77
1) 15 &+ 2) 20 ¥+ 3) 12 &+ 4) 10 &+ 5) s | BIg T

U @A H S Bex™ & HAHA § AN o Tl TS faeneft &1 2 dfdeie QY Wi & | afe 6354 faeneft oriws #
AT o 2 8, d fas dfdce 77 gS3?

1) 12,608 2) 12,808 3) 12,408 4) 12,508 5) T ¥ PIS T8
fr=ferfRad oo # u=Afa? (2) & RIH R I &1 AT ST A1MRY?

V876 x20.6+165.34="7

1) 700 2) 686 3) 775 4) 846 5) 745

frem & U g5 gk &k T 2| e @ 59 el 2 &R S9a uidl @ qa | 190 ®, @ e & ure e
T 87

1) 36 2) 32 3) 23 4) 33 5) 3 | BIg T
IS (41)° BT Th G & A H Sl R IR 7457 @1 § A I8 F&T T 87
1) 76 2) 63 3) 81 4) 82 5) T 9 DI3 T8

& g A9 A= H |, ggell Al g W g SR R A g 8 | e Aiel Bl Sivrd 121 8 O usel! iR dR)
= $ I F1 SR a1 87
1) 132 2) 99 3) 77 4) 144 5) T ¥ PIS T8

Uh HR 15 fedl/ger @l Tfd | 45 f&0 @ g8 T3 wxal 81 I8 e 50 HH @ amn 25 fad/ger a1 afd 9§ ik
3y 25 forft @ A= 10 fEf/ger ot g 9 FRa) €1 BR @ frad Ifa @ 27

1) 40 f&1 /=< 2) 24 f&Hi /g 3) 15 foH/=en 4) 18 f&Hi /gt 5) T ¥ DI3 T8
afg 16a + 16b = 672 &, 1 (a + b) & 3{a a1 2°
1) 44 2)21 3)24 4) 42 5) T ¥ PIS T8

Th G & 67% 3R 42% & 9 &1 =R 214 8| 39 I b1 75% fba=m 87
1) 528 2) 595 3) 642 4) 684 5) 37 ¥ g T

fr=IferRRad oo # u=Afa? (2) & RIH R I R OAE S ATfRY?
5321 = 305 x (19)2 = ?

1) 6150 2) 6425 3) 6380 4) 6355 5) 6300

UH e | e @1 950 § | 654 3f® e 1 9 Wi § 9B oW gfaerd feaer 27

1) 74 2) 65 3) 63 4) 78 5) 69

6.5 ufded ufted & R A 5 9§ & 915 5,580 B. DI AN W fHadr AR el fHe?

1) 1,825 %. 2)1,8135%. 3) 1,827.5%. 4) 1,819 %. 5) STH ¥ @13 Al

A R B 7 @He: 35,000 $UY iR 20,000 $UT BT 99 RS Th aArg R fHAr| B 7 5 A€ 9§ I Bl
& 3R C 71 15,000 3UY STid: Faard | A 8 7| a9 & 37d # Affa o 84,125 $UT | B & 2R &1 o™
fopa 87

1) 14,133 3ug 2) 15,000 3Ug 3) 13,460 U 4) 13,640 U 5) STH ¥ @13 Al
4,500 $UY @1 BT W 4 WIHA B X F 2 99 B 3(d H a1 dshafy <ot e ddbar 27
1) 360 BUY 2) 358.40 BUY 3) 367.20 BUT 4) 350 BUY 5) 3 A BIE &
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95. /8464 +42 =102

96.

97.

9.

9.

100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

1) 225 2) 100 3)400 4) 625 5) None of these

The length of a rectangle, which is 25 cm is equal to the length of a square and the area of the rectangle is 125 cm less than
the area of the square. What is the breadth of the rectangle?
1)15cm 2) 20cm 3)12cm 4)12cm 5) None of these

Students attending the flag hoisting function in a school are given 2 chocolates each. How many such chocolates
should be ordered if 6354 students attended the function?
1)12,608 2) 12,808 3)12,408 4) 12,508 5) None of these

What approximate value should come in place of the question mark (?) in the following question?

V876 x20.6+165.34 =2
1)700 2)686 3)775 4)846 5)745

Kishan has some hens and some cows. Ifthe total number of animal heads are 59 and the total number of feet are 190, how
many cows does Kishan have?
1)36 2)32 3)23 4)33 5) None of these

If (41)2 is added to the square of a number, the answer so obtained is 7457. What is the number ?
1)76 2)63 3)81 4)82 5) None of these

Out of the three given numbers, the first number is twice the second and thrice the third. If the average of the three
numbers is 121, what is the difference between the first and the third number ?
1)132 2)99 3)77 4)144 5) None of these

A car travels a distance of 45 km at the speed of 15 kmph. It covers the next 50 kms of'its journey at the speed of 25 kmph
and the remaining 25 kms of its journey at the speed of 10 kmph What is the average speed of the car?
1) 40 kmph 2)24 kmph 3) 15 kmph 4) 18 kmph 5) None of these

Ifthe value of 16a + 16b = 672, what is the average of (a + b) ?
1)44 2)21 3)24 4)42 5) None of these

The difference between 67% of a number and 42% of the same number is 214. What is 75% of that number ?
1)528 2)595 3)642 4) 684 5) None of these

What approximatze value should come in place of the question mark (?) in the following question ?
5321+305%(19) =?
1)6150 2)6425 3)6380 4)6355 5)6300

In an examination Krish scores a total of 654 marks out of 950. What is his approximate percentage in the examination ?
1)74 2)65 3)63 4)78 5)69

What would be the simple interest obtained on an amount of Rs 5,580 at the rate of 6.5 p.c.p.a. after 5 years ?
1)Rs 1,825 2)Rs 1,813.5 3)Rs 1,827.5 4)Rs 1,819 5) None of these

A and B started a business by investing Rs 35,000 and Rs 20,000 respectively. B left the business after 5 months and C
joined the business with a sum of Rs 15,000. The profit earned at the end of the year is Rs 84,125. What is B’s share of
profit?

1)Rs 14,133 2)Rs 15,000 3)Rs 13,460 4)Rs 13,640 5) None of these

What amount of compound interest can be obtained on an amount of Rs 4,500 at the rate of 4 p.c.p.a at the end of 2 years?
1)Rs 360 2)Rs358.40 3)Rs367.20 4)Rs 350 5) None of these
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110.

111.

112.

113.

114.

115.
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g ‘ARROW’ & 318RI Bl Icl1-37 fhdw UbR W gaRerd fhar S Aol 87

1) 120 2) 60 3) 6 4) 720 5) T | BIg T
Ry M Bl 2yt 2 a2, W e T gl @ 8
77974 6 5
7 11 13 9 . .

I)Z 2)3 3)z 4)g 5) H ¥ PIS T8
fr=iferRad iexer § gl () & SFE w7 Sme?

28 ()"
(?)2.3 - 98
1) 49 2) 28 3) 14 4) 4 5) s | BIg T
fAdw (9. 113-115): =l yAs A g@aet § g fa? (?) @ = R @ S Anfee?
12 16 24 40 ?
1) 76 2) 72 3) 84 4) 88 5) g9 A PIS T
8 17 42 91 ?
1) 170 2) 142 3) 140 4) 172 5) T ¥ DI3 T8
3840 960 240 60 ?
1) 20 2) 18 3) 12 4) 22 5) T ¥ PIS T8

e (9. 116-120): 37 A3 UvHi § G 99 B WM R UHh YeaEs @47 (?) 0 Uh aHiav & 7
S R IR B SR S ATl I G BT 21 9N IR B AF a0 QT T gHEa B A7 B R ) e i

F1 B & Ao § 9 oF-a1 99 9 1 99T S AR 9 ISR 4vEfR? & W W R Sem?
fa? fefia o 2

116.

117.

118.

119.

120.

18

NIV ALV

GECSI
Jq R®R B
q BT B
I Al 91 € IT RER ©
I7 G BT § AT IRIER B

17 - 43 -65<?

1) -125 2) 124 3) -126 4)-128 5)-127
650 &1 28% > ?

1) 325 &1 56% 2) 1300 T 14% 3) 550 &1 33% 4) 325 B 14% 5) (14)?
+{(5832 = 18) — (1792 + 8)} > ?

1) ~100 2) 100 3)-111 4) £100 5)-101
(1200 = 30) + /576 = (?)

1) 64 2) 8 3) (24)? 4) (64)? 5) 64

+{(465 = 30) + (16 x 5)} < ?
1) 95.5 2)97.5 3) -97.5 4)-95.5 5) 497.5
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110.

111.

112.

113.

114.

115.
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In how many different way can the letters of the word ‘ARROW?’ be arranged?

1) 120 2) 60 3)6 4) 720 5) None of these
. 4 11 7 13 9 L
Out of the fractions = > —>—> — and > which is the fourth largest?
79 4 6 5
1 7 2 U 3 B 4 2 S5)N f'th
) 4 ) 9 ) 5 ) 5 ) None of these

What will come in place of both question marks (?) in the following equation?

28 ()"
(?)23 98
1) 49 2)28 3)14 44 5) None of these

Directions (Q. 113-115) : What should come in place of the question mark (?) in the following number series ?

12 16 24 40 ?
1) 76 2) 72 3) 84 4) 88 5) None of these

8 17 42 91 ?
1) 170 2)142 3) 140 4) 172 5) None of these

3840 960 240 60 ?
1) 20 2) 18 3) 12 4) 22 5) None of these

Directions (Q. 116-120): In each of these questions an equation is given with a question mark (?) in place of the correct

figure on the right hand side which satisfies the equality. Based on the values on the left hand side and the symbol of equality
given, you have to decide which of the following figures will satisfy the equality and thus come in place of the question mark.

116.

117.

118.

119.

120.

Symbol Stands for

> greater than

= equal to

< lesser than

> either greater than or equal to

< either lesser than or equal to
—17-43-65<7?
1)-125 2)-124 3)-126 4)—128 5)-127
28% of 650> 7
1) 56% of 325 2)14% of 1300 3)33% of 550 4) 14% of 325 5)(14y
+{(5832+18)— (1792 +8)} >?
1)-100 2) 100 3)-I111 4)+100 5)-101

(1200+30)+ /576 =(?)?
1) 64 2)8 3) (24 4) (64 5)-64

+{(465+30)+ (16 5)} <?
1)95.5 2)97.5 3)-97.5 4)-95.5 5)97.5
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122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.
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YAt IV
PYEX M

ANTA H, AMMUYS g <91 § UIP U H TP B H degol &l & Bl folke &I R o= & fory F=fofRad § &
B AF Iugad 27

1) ORACARRY 2) IS <aa 3) TSau-3fiEss <ad
4) g=ad 5) VARRAY
FATse,/IdR Alsd H, dellge UIU™
1) @11 AT 2 2) G 3R BISel SUAE BRI B
3) eI BIsel T YT DI T Bl 4) STCT BIgel TN HREY Bl [SEIGS =T 2
5) 57 | BIg T
FRCX BT P B VB ¥ YT wRd § R 3 ANYIYE Bl FEd T |
1) gfearsior 2) dfz 3) sufe 4) grafiT 5) 39 | BIg T
frfaRad § 9 & siffeda o &1 U6 SRRV BIF 87
1) fefiica afersa fewws (DVD)  2) #+ifews @ 3) 7R fewh
4) srel 99 feww 5) s & ®IE TE
CPU & foIg gov1 oreg 8 |
1) AZHIIRIER 2) TRNRe 3) "SI 4) Sprs 5) 37 | BIg &
g @ gA B B
1) wHigE 2) STt 3) SresTacH 4) Rures 5) s | BIg T
TE AN ¥ S9 BIRA B Faem @ FAte & R ugd S9H R far T oy
1) st 2) feire 3) 3w 4) e 3€ 5) 39 | BIg T
PHREX Bl Reboot T & fory FFfRad § 4 $19-W w08 & SRl 57
1) Ctrl+Alt + Del 2) Ctrl + Shift + — 3) Ctrl + Shift + Del
4) Ctrl + Alt + shift 5) Ctrl + Alt + Tab
<9 # Ralda o IS & U # galdgi=dell IS Siel B Uh hoAded o |
1) Srssfie 2) USiee 3) SeHd 4) 99 U 5) s & B E
AUERR god ol Wiaal &1 fafdre gaiomi & foy dwer d gexiae o <d ¥ S= FEd T |
1) BSIR 2) FTITE WIHeIIR  3) UARIIR 4) AT 5) T 9§ P T
CDs &1 3MHR AT BT 87
1) AreR 2) 3R 3) Mo 4) yeprfa 5) 3T | IS TE
AfFHaH AHT gexme iy f=faled €
1) SRAAIRET =fSid 2) FARA & TR SET 3) fdarai @l @Ear)
4) g-afer 5) T ¥ DIS T8
fefaled § & o9 ar8eye feagd & 2°
1) wifex 2) fiiex 3) TR 4) #Hifex 5) s | BIg T
# ge SR 77 B & R A= ugad wHel B Uaid doll 9 BT g |
1) <o IR 2) ¥ IR 3) fd=r 4) ®IgS 5) T & BIg TE
AP U TSR Al 4 T & A9g H B3 9 Aol ol W H A& a1 2 |
1) <9 ¥t 2) UY-319 g 3)cT N 4) Ug9 IR 5) Esc @1
sYc fearsd &1 U IRV T
1) @r-are 2) Hifex 3) W9 4) AT IR gHe 5) 39 A BIS A8
, Uh SRe B R o9 U9 & ared # file o amed ¥
1) &= 2) TeAle 3) e 4) X 5) T & BIg TE
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122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.
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Test IV
Computer Knowledge

In Oracle, which is more appropriate to store a small list of values in a single column in each row in your address table?

1) ORACARRAY 2) Nested table 3) Index-organized table

4) Index 5) VARRAY

In a client/server model, a client program

1) asks for information 2) provides information and files

3) serves software files to other computers 4) distributes data files to other computers

5) None of these

Computers manipulate data in many ways, and this manipulation is called

1) utilizing 2) batching 3) upgrading 4) processing 5) None of these
Which of the following is an example of an optical disk?

1) Digital versatile disks 2) Magnetic disks 3) Memory disks

4) Data bus disks 5) None of these
Another word for the CPU is

1) microprocessor 2) execute 3) microchip 4) decode 5) None of these

A menu contains a list of

1) commands 2)data 3) objects 4) reports 5) None of these
A command to get a file you worked on from the memory where it was stored.

1) close 2) delete 3) open 4) getit 5) None of these
Which of the following commands is given to reboot the computer?

1) Ctrl+Alt + Del 2) Ctrl+ Shift+ — 3) Ctrl + Shift + Del

4) Ctrl + Alt + shift 5) Ctrl + Alt + Tab

A is a collection of data that is stored electronically as a series of records in a table.

1) spreadsheet 2) presentation 3) database 4) web page 5) None of these
The software tools that enable a user to interact with a computer for specific purposes are known as —

1) Hardware 2) Networked Software ~ 3) Shareware 4) Applications 5) None of these
What is the shape of CDs?

1) Quadrillateral 2) Rectangular 3) Circular 4) Hexagonal 5) None of these
The most popular Internet activity is

1) downloading music 2) watching movie trailers 3) Shopping for books

4) e-mailing 5) None of these

Which of the following is not an output device?

1) Plotter 2) Printer 3) Scanner 4) Monitor 5) None of these
A contains buttons and menus that provide quick access to commonly used commands.

1) toolbar 2) menu bar 3) window 4) find 5) None of these
The enables you to simultaneously keep multiple Web pages open in one browser window.

1) tab box 2) pop-up helper 3) tab row 4) address bar 5) Esc key

A is an example of an input device.

1) keyboard 2) monitor 3) Mouse

4) Central Processing Unit 5) None of these

A(n) is text that you want to be printed at the bottom of the pages.

1) header 2) endnote 3) footnote 4) footer 5) None of these
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144.

145.

146.

147.

148.

149.

150.

151.

152.

153.

154.
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, BRIR AR WUCRR & U BIAIT & Sl dYfeT fasdl & d1 a1 & eH-UaH &1 Jfaen uae
TR B |
1) Acas 2) IR 3) e 91 4) feforea fearga 5) STH ¥ @13 Al
PHRYE B Far 8 b s SHMcd B TAN DY fhar Sy |
1) gfeferd 2) Aead 3) amRfeT Ren 4) vftaaed U™ 5) 39 | BIg T
TCP gr1 fr=ifoiRad # & dIF-91 waRe 781 faan rar 2?
1) vl T 2) AR 3) TR AT 4) |t 5) T | PIE TE
e # sel 9y Bl R b AfaRad, H ST T B ST qhall B
1) $7Yc wH 2) <qa 3) wice 4) s1e1 fSaRr 5) 5 ¥ BIS TE
NS el SuERTT B1 I8 SHvreie xar g & S $er ¥ IS99 hRmfec! g™ & oy Siet 5 |1 ¢ |
1) fSfed feasa 2) Riven Ys-aiA 3) b & 4) YRR fearsd 5) T 9 PIS T8
A CD-RW f&=5
1) & Seid f&p & goT # I9 v g B |
2) dfifede 3@ &1 vd U & AN 39 U & aR J1sc A1 o Ahal 2 |
3) # weltdl f$b @ a1 § B SIeT M 2
4) 1 RS 3R IR1ge a1 o1 qHhar B |
5) s A BI T |
ugel by Y faRad &M @1 deed Pl @1 PEd 87
1) ®wIsa 2) vfse 3) ®e 4) S 5) 39 | BIg T8l
Alcgd ¥ SWHel HAisd Bl HM o B o Alegd Bl q PIae fbar S gear 8 ORT |ifFex ok g
YRR H PHeige fHar Sar 2 |
)3 2) Sitfpn W 3) o 4) JeaH 5) 39 | BIg T
foemme SrRpic @1 uRafia &1 SrwRpc @ FHEAT 2 |
1) fopgfea 2) ufefen 3) AISBTIET 4) TeuIReT 5) 57 | BIg &
AEHI™AGC A Th
1) IRER & 2) ufedh-SIRT HivCdR B 3) NTH-9I AfeRR &

4) t& afédat Athe UaadeE 8 5) Th Udaed |E @
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138. A(n) is a combination of hardware and software that facilitates the sharing of information between computing

devices.

1) network 2) peripheral 3) expansion board 4) digital device 5) None of these
139. The tells the computer how to use its components.

1) utility 2) network 3) operating system  4) application program 5) None of these
140. Which of the following functions is not performed by TCP?

1) Flow control 2) Sequencing 3) Error checking 4) Subnetting 5) None of these
141. In addition to keying data directly into a database, data entry can be done from a(n)

1) input form 2) table 3) field 4) data dictionary 5) None of these
142. The term designates equipment that might be added to a computer system to enhance its functionality.

1) digital device 2) system add-on 3) disk pack 4) peripheral device ~ 5) None of these

143. A CD-RW disk
1) has a faster access than an internal disk
2) is a form of optical disk, so it can only be written once
3) holds less data than a floppy disk
4) can be erased and rewritten

5) None of these
144.  To change written work already done is called

1)file 2) edit 3) cut 4) close 5) None of these
145.  To make a notebook act as a desktop model, the notebook can be connected to a which is connected to a

monitor and other devices.

1) bay 2) docking station 3) port 4) network 5) None of these
146. Changing an existing document is called the document.

1) creating 2) editing 3) modifying 4) adjusting 5) None of these
147.  Microsoft Office is

1) Shareware 2) Public-domain software 3) Open-source software

4) A vertical market application 5) An application suite

148. Cache and main memory will lose their contents when the power is off. They are

1) dynamic 2) static 3) volatile 4) non-volatile 5) faulty
149. The rectangular area of the screen that displays a program, data, and/or information is a

1) title bar 2) button 3) dialog box 4) window 5) None of these
150. Each cell in a Microsoft Office Excel document is referred to by its cell address, which is the .

1) cell’s column label 2) cell’s column label and worksheet tab name

3) cell’s row label 4) column labels

5) None of these
151. lets you leave a screen or program.

1) Boot 2) Programs 3)Exit 4) Text 5) None of these
152. The physical arrangement of elements on a page is referred to as a document's

1) features 2) format 3) pagination 4) grid 5) None of these
153.  Which of the following describes a relational database?

1) It provides a relationship between integers 2) It consists of separate tables of related data

3) It retrieves data related to its queries 4) It provides a relationship between floats

5) None of these
154. means that the data contained in a database is accurate and reliable.

1) Dataredundancy 2) Data integrity 3) Data reliability 4) Data consistency  5) None of these
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is the result produced by a computer.
1) Data 2) Memory 3) Output

is an invalid type of database key.
1) Structured primary key 2) Atomic primary key
4) Composite primary key 5) None of these

Which of the following is a key function of a firewall?
1) Monitoring 2) Deleting 3) Copying

A(n) converts and executes one statement at a time.
1) compiler 2) interpreter 3) converter

Documents converted to can be published to the Web.
1)adocfile 2) http 3) machine language

You cannot link Excel worksheet data to a Word document

1) with the right drag method

2) with the hyperlink

3) with the copy and paste special commands

4) with the copy and paste buttons on the standard commands
5) All of these

SET-10-2012-N5
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Test V
General Awareness
Which of the following terms is not used in the banking industry?
1) Taccavi loan 2) Absenteeism 3)NPA 4) Hypothecation 5) Teasing rate

When someone wants to open a new savings bank account, the bank asks him/her to bring various documents. Which
of the following is one of these documents?

1) Certificate of medical fitness 2) Degree certificates
3) Proof of residence & identity 4) Address of two persons who can give guarantee
5) None of these

As we all know, when we deposit a cheque issued in our name in the bank, the bank always checks if the cheque has been

crossed or not. Why is this done?

1) It ensures that money is deposited only in the account of the person in whose name the cheque has been drawn.

2) Itis a process by which the person who has issued the cheque comes to know whether the cheque is encashed or not.

3) The banks insist on it only when the party wants the payment immediately and that too in cash only.

4) Thisis an instruction of RBI that all the cheques of the amount of Rs 10,000 and above should be accepted only if they
are crossed.

5) None of these

Who among the following was the chairman/head of the panel set up to review fuel pricing in the country?
1) Kirit Parikh 2) R Gopalan 3) Ashok Chawla 4) Arun Ramnathan 5) None of these

In order to avoid crowding of customers wanting to withdraw cash in the branches, banks have provided many delivery
channels. Which of the following is one of the most popular channels of getting instant hard cash?

1) Core Banking Solution 2) Pay Orders 3) Demand Drafts

4) Automated Tailor Machines 5) None of these

A student has got admission to a foreign university. From where can he/she get the foreign currency?

1) From the bank of that country only 2) From the Ministry of Foreign Affairs

3) From office of the Consulate General of that country ~ 4) From an authorised foreign exchange dealer
5) From any big five star hotel as many foreigners come to stay there

Which of the following is the oldest public sector bank of India having branches all over the country and serving for the
last 146 years and even today? Identify the bank:

1) Punjab National Bank 2) Bank of India 3) State Bank of India

4) Allahabad Bank 5) None of these

Banks opened in Special Economic Zones in India comes under which of the following categories?

1) International Banking 2) Domestic Banking 3) Offshore Banking

4) National Banking 5) None of these

Investment in which of the following is the “Most Risk Free asset” of banks as per the RBI guidelines?

1) Housing loans 2) Government approved securities  3) Venture capital investments
4) Loans against jewellery 5) None of these

Up to what percentage the RBI is empowered to increase the Statutory Liquidity Ratio (SLR) of banks?
1)25% 2)30% 3)35% 4)40% 5)50%

From which of the following countries Green Revolution was started?
1) Canada 2) Mexico 3) Brazil 4) India 5) China

The term ‘Round Revolution’ is most closely associated with which of the following?
1) Potato 2) Tomato 3)Eggs 4) Brinjal 5) None of these
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The purchase of shares and bonds of Indian companies by Foreign Institutional Investors is called
1)FDI 2) Portfolio Investment 3) NRI Investment
4) Foreign Indirect Investment 5) None of these

The power of the commercial banks to expand deposits through expanding their loans and advances is known as which
among the following?
1) Capital Expansion 2) Credit Expansion 3) Credit Control 4) Credit Creation 5) None of these

If the Reserve Bank of India wants to block/hinder the capital outflows and contain the currency depreciation, which
among the following would be the most possible action?

1) Increase Interest Rates 2) Decrease Interest Rates 3) Purchase Government Bonds

4) Decrease Statutory Liquidity Ratio 5) None of these

At which of the following levels, Central Cooperative Banks are established in India?

1) District level 2) State level 3) Inter-state level 4) National level 5) Block level
Which of the following committee advises RBI on Monetary Policy?

1) Monetary Policy Committee (MPC) 2) Federal Open Market Committee (FOC)

3) Technical Advisory Committee (TAC) 4) Financial Stability and Development Council (FSDC)
5) None of these

When there is an inflationary trend in the economy, what would be trend in the pricing of bank products?

1) Increasing trend

2) Decreasing trend

3) Constant trend

4) There is no relevance of inflation in pricing of banking products

5) None of these

Which of the following statements is NOT true?

1) Reverse Repo operation of RBI aims at injecting/increasing liquidity
2) SDRis related to Special Drawing Right of IMF

3) Rupee appreciation results in decrease in imports

4) Increase in inflation rate leads to decline in real interest rate

5) None of these

The Mahatma Gandhi National Rural Employment Guarantee Act mandates at least what fraction of the beneficiaries to
be women?
1)25% 2)30% 3)40% 4)50% 5) None of these

The level of carbon dioxide has passed a long-feared milestone of 400 ppm, the highest in 3-million years. Which ofthe
following countries, at present, is the largest emitter of this gas in the world?

1) US 2)UK 3) China 4) India 5) None of these
IED stands for

1) Implanted Electronic Device 2) Interconnected Electronic Device  3) Improvised Electronic Device

4) Improvised Explosive Device 5) None of these

As SIP stands for Systematic Investment Plans, STP stands for

1) Systematic Transfer Plans 2) Systematic Trading Plans 3) Systematic Term Plans

4) Systematic Top-up Plans 5) None of these

As per the data released by the office of the Registrar General and Census Commissioner of India recently, among the top
Indian cities, the number of working women is lowest in
1) Mumbai 2) Kolkata 3) Chennai 4) New Delhi 5) None of these

Which of the following statements is/are correct? CERT is
1) a world famous laboratory

2) the cyber watchdog of India

3) the acronym for Computer Emergency Response Team
4) Both 1) and 3)

5) Both 2) and 3)
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Name the latest social networking site developed by an Indian entrepreneur, Pushkar Mahatta, which is all set to take on
Facebook and Twitter.

1) OmniBus 2) WorldFloat 3) UniFloat 4) HangOut 5) None of these
Who among the following has won the men’s singles title of the 2013 Madrid Masters tennis tournament?

1) Roger Federer 2) Novak Djokovic 3) Rafael Nadal 4) Andy Murray 5) None of these
The Antrix Corporation Limited is the marketing arm of which of the following organisations?

1) Indian Space Research Organisation 2) Defense Research and Development Organisation
3) Ordinance Factory Board 4) Bharat Heavy Electricals Limited

5) None of these

As the post of Attorney General of India is a Constitutional post under Article 76 of the Constitution of India, which of
the following is true about the posts of the Solicitor General and the Additional Solicitors General in India?

1) These are constitutional posts 2) These are only statutory posts 3) These are autonomous posts

4) They are private practitioners 5) None of these

In the wake ofthe Supreme Court’s scathing observations on CBI, the govt formed a Group of Ministers (GoM) to draft
a law to insulate the investigating agency from external influence which was headed by
1) Manish Tewari 2) Kapil Sibal 3) Salman Khurshid ~ 4)P Chidambaram 5) None of these

The Bhagya Jyothi scheme, under which electricity connections are provided to BPL households, is a scheme implemented
in which of the following states?

1) Andhra Pradesh ~ 2) Madhya Pradesh 3) Odisha 4) Karnataka 5) None of these
The World Thalassaemia Day is observed on which of the following dates?
1) May 7 2) May 8 3)May9 4)May 12 5) None of these

Commonwealth Games gold-medallist Manoj Kumar and rising star L Devendro Singh are the prominent faces which
represent India in the game of
1) Archery 2) Boxing 3) Weightlifting 4) Discus Throw 5) None of these

The first indigenously developed rotavirus vaccine ROTAVAC prevents which of the following diseases?
1) Pneumonia 2) Chickenpox 3) Diarrhea 4) Marasmus 5) None of these

In which of the following countries, the former dictator Rios Montt was sentenced for genocide and crime against
humanity and was later acquitted by the apex court of the country?
1) Guatemala 2) Ethiopia 3) Nigeria 4) Congo 5) None of these

Which of the following countries is the biggest economy in the Euro Zone?
1) Germany 2)UK 3) Italy 4) Spain 5) None of these

Which of the following countries launched first-of-its-kind, a new same-day visa service, for urgent travelers from India
recently?
1) US 2) South Korea 3) Japan 4)UK 5) None of these

Asghar Ali Engineer passed away recently. He was a noted
1) Hindu scholar 2) Islamic scholar 3) Historian
4) Wildlife Photographer 5) None of these

The govt proposed an out-of-court settlement with British telecom giant Vodafone on tax dispute issue which for its 2007
acquisition of Hutchison mobile in India, is liable to pay

1)Rs 11,200 crore 2)Rs 10,000 crore 3)Rs 7,500 crore 4)Rs 5,200 crore

5) None of these

The Reserve Bank of India, in a bid to lure investors away from gold, issued which of the following instruments for the
first time in over a decade?

1) Fixed Net Asset Value (NAV) bonds 2) Inflation-Indexed Bonds (I1B)
3) Rajiv Gandhi Equity Savings Scheme (RGESS) 4) National Guaranteed Return Bonds (NGRB)
5) None of these

SET-10-2012-N5 31



O BSCAcademy

BSC

32 SET-10-2012-N5S




